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Version 1

Problem 1.
Given a = —2 and b = —4, evaluate the expression given below.

a*+b*a+ab

Problem 2.
Solve for x.

—2(—4x+5) =20—2x
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Problem 3.
Solve for x.

Problem 4.
Solve for x.

7=06x+8y
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Problem 5.
If n represents a number, which equation is a correct translation of the sentence?

11 subtracted from 9 times a number is 7.

(11 —n)=17
Mm—11=7
I9(n—11)=7
D.11-9n=7

A.
B.
C.

Problem 6.
Find the graph of the solution to the inequality.

—8x—4>—x+17
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1T T 1T 17171717 1TT"7
-8 -7-6-5-4-3-2-18 1 2 3 45 6 7 8
A
I A |
1T 1T 11
-8 -7-6-5-4-3-2-1 68 1 2 3 45 6 7 8
B
1T 1T 11
-8 -7-6-5-4-3-2-1 86 1 2 3 45 6 7 8
C
| | | | |
ettt
8 -7 -6 -5-4-3-2-1 8 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the y-coordinate of the solution to the system of equations.
—3x+3y =-12
x+y =6
e Aly=1
e B.y=-3
e C.y=3
eD.y=-1
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Version 2

Problem 1.
Given a = —5 and b = 3, evaluate the expression given below.

ba+a®>+b*a

A5

B. -35
C.55
D. -85

Problem 2.
Solve for x.

2x—22=2(3x+5)

Problem 3.
Solve for x.
x+8 x+4
15 9
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Problem 4.
Solve for y.

z="Tx+6y
z+ Tx
; 6
B.yzE — Tx
C.y=6(z — Tx)

z— Tx
D.y= G

Ay=




Problem 5.
If z represents a number, which equation is a correct translation of the sentence?

71 is 98 subtracted from 3 times a number.

e A.71=3(98—72)
e B.71=98—-3z
e C.71 =3(z—98)
e D.71=37—-98
Problem 6.
Find the graph of the solution to the inequality.
—5x—3>8x+62
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-8 -7-6-5-4-3-2-18 1 2 3 45 6 7 8
A
-8 -7-6-5-4-3-2-1 68 1 2 3 45 6 7 8
B
-8 -7-6-5-4-3-2-1 86 1 2 3 45 6 7 8
C
=t
8 -7 -6 -5-4-3-2-1 8 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the x-coordinate of the solution to the system of equations.
3x+y =-6
—2x+3y =4
e A.x=-1
e B.x=—-4
o C.x=-2
e D.x=-3
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Version 3

Problem 1.
Given a = 5 and b = —10, evaluate the expression given below.

ab+d* +b*a

A. =575
B. 475
C. =525
D. 525

Problem 2.
Solve for x.

—66+2x = 2(—4x—3)
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Problem 3.
Solve for x.

Problem 4.
Solve for y.

z=9x+7y

e A.y="7(z — %)
B.yz% — 9x
7= %

C.y

zZ+ 9x
7

D.y=




Problem 5.
If x represents a number, which equation is a correct translation of the sentence?

85 is 9 less than 8 times a number.

e A 85=8x—-9
e B.85=8(9—x)
e C.85=8(x—9)
e D.85=9—8x
Problem 6.
Find the graph of the solution to the inequality.
—4x+5<6x—-35
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11T 1T 1T "17"1T"1T"1T"1T7T"
-8 -7-6-5-4-3-2-18 1 2 3 45 6 7 8
A
-8 -7-6-5-4-3-2-1 68 1 2 3 45 6 7 8
B
-8 -7-6-5-4-3-2-1 86 1 2 3 45 6 7 8
C
-t
8 -7 -6 -5-4-3-2-1 8 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the x-coordinate of the solution to the system of equations.
—x+2y =-13
—4x+5y =-37
e A x=4
e B.x=5
e C.x=3
e D.x=2
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Version 4

Problem 1.
Given a = —3 and b = —5, evaluate the expression given below.

ba+ a*b + b*

.55
=5
=35
—55
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Problem 2.
Solve for x.

2(4—3x) =62+3x
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Problem 3.
Solve for x.
50 5 20
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Problem 4.
Solve for y.

7z=9x+8y

A.y:§—9x
- %

B.y

z + 9x
C.y=
Y 8

D.y=28(z — %)




Problem 5.
If n represents a number, which equation is a correct translation of the sentence?

26 is 25 less than 2 times a number.

e A.26=25—-2n

e B.26=2(n—25)

e C.26=2n-25

e D.26=2(25—n)
Problem 6.

Find the graph of the solution to the inequality.
—3x+9>7x+49

‘llllllllllllllll
—rrr 1T Tt T 1T T 1T 1T"1T T7T"1I
-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
A
8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
B
-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
C
N N A A A N O N B ¢_'_'_|*
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-8 -7 6 -5-4-3-2-18 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the y-coordinate of the solution to the system of equations.
4x+3y =14
4x+5y =10
e Aly=-2
e By=-4
e C.y=0
e D y=-6
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Version 5

Problem 1.
Given a = 3 and b = —3, evaluate the expression given below.

ba+a®>+b*a

A. —45
B. 45
C.27
D. -27

Problem 2.
Solve for x.

2x+66 = —2(3x—5)

Problem 3.
Solve for x.
x—10 o ox— 20
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Problem 4.
Solve for y.

7=8x+06y
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Problem 5.
If z represents a number, which equation is a correct translation of the sentence?

23 is 71 subtracted from 4 times a number.

e A.23=4(z-T71)
e B.23=71—-4z
e C.23=4(71-2)
e D.23=47-71
Problem 6.
Find the graph of the solution to the inequality.
3x—7<9%x+11
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1T T 1T 17171717 1TT"7
-8 -7-6-5-4-3-2-18 1 2 3 45 6 7 8
A
I A |
1T 1T 11
-8 -7-6-5-4-3-2-1 68 1 2 3 45 6 7 8
B
W’ 11 1 |
1T 1T 11
-8 -7-6-5-4-3-2-1 86 1 2 3 45 6 7 8
C
ettt
8 -7 -6 -5-4-3-2-1 8 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the x-coordinate of the solution to the system of equations.
—4x—y =9
—2x+5y =-23
e Alx=-3
e B.x=3
o C.x=-1
e D.x=1
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Version 6

Problem 1.
Given a = —2 and b = 2, evaluate the expression given below.

ab +b*a+ a*

A. =8
B. 16
C.8
D. 16

Problem 2. Solve for x.

2(—4x—4) = —85+3x

e A x=11
e B.x=9
e C.x=17
e D.x=5
Problem 3.
Solve for x.
x—4+—1_x—12
3 36
oA.x:(—l)
oB.x:(l
o C.x=(—4)
oD.x:(—Z)
Problem 4.
Solve for x.
Z=4x+15y
e A.x=4(z — 5y)
Z
B.x=- -5
e B. x 4+5y
Z y
C.x=
[ ] X 45
oD.x:Z_ Y




Problem 5.
If x represents a number, which equation is a correct translation of the sentence?

61 less than 10 times a number is 54.

e A. 10x—61 =54
e B.10(x—61) =54
e C.10(61 —x) =54
e D.61 —10x=54
Problem 6.
Find the graph of the solution to the inequality.
3x—8<5x—-2
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1T T 1T 17171717 1TT"7
-8 -7-6-5-4-3-2-18 1 2 3 45 6 7 8
A
I A |
1T 1T 11
-8 -7-6-5-4-3-2-1 68 1 2 3 45 6 7 8
B
1T 1T 11
-8 -7-6-5-4-3-2-1 86 1 2 3 45 6 7 8
C
ettt
8 -7 -6 -5-4-3-2-1 8 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the y-coordinate of the solution to the system of equations.
—4dx+y =-15
—4x+2y =-10
e Aly=5
e B.y=3
e C.y=4
e D.y=6
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Version 7

Problem 1.
Given a = —5 and b = 2, evaluate the expression given below.

b* + ba+a*b

Problem 2.
Solve for x.

—3x—38 = —2(—4x—3)

Problem 3.
Solve for x.

x—4 -4 x—12
9 157 15

e o 0 o
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Problem 4.
Solve for x.
7=9x+3y

Z
Ax=—- -3
X 9 y

B.x=9(z — 3y)
Cox=2"" 3

z + 3y

D.x=
o 9




Problem 5.
If m represents a number, which equation is a correct translation of the sentence?

31 subtracted from 10 times a number is 30.

A.10(m—31) =30
B. 10m—31 =30
C.31—10m =30
D. 10(31 —m) =30

Problem 6.
Find the graph of the solution to the inequality.

—Tx—2>-2x+23
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-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
A
8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
B
-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
C
A=t
-8 -7 6 -5-4-3-2-18 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the y-coordinate of the solution to the system of equations.
2x+4y =6
—3x+4y =-19
e Aly=1
e B.y=-1
o C.y=-2
e D.y=0
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Version 8

Problem 1.
Given a = 5 and b = —35, evaluate the expression given below.

b* +da*b + ab

A. 125
B. —125
C.75
D. 175

Problem 2.
Solve for x.

—87+43x=2(—3—-3x)

Problem 3.
Solve for x.
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Problem 4.
Solve for y.

z=8x+T7y
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Problem 5.
If k represents a number, which equation is a correct translation of the sentence?

66 less than 4 times a number is 71.

o A 4k—66="T1
e B.4(k—66) =71
e C.66—-4k="T71
e D.4(66—k)="T1
Problem 6.
Find the graph of the solution to the inequality.
—2x—5<3x-30
‘llllllllllllllll
T 1Tt 1T 1T T 1T 1T"1T T7T"1I
-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
A
8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
B
-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
C
e B e RN R R e o g
-8 -7 6 -5-4-3-2-18 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the y-coordinate of the solution to the system of equations.
—3x+3y =-18
2x+5y =5
e Aly=3
e B.y=1
e Cy=~—
e D.y=-1
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Version 9

Problem 1.
Given a = 3 and b = —10, evaluate the expression given below.

b* + ba+a*b

A. —160
B. 220
C.40
D. -20

Problem 2.
Solve for x.

2(3x+4) =2x—16
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Problem 3.
Solve for x.
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Problem 4.
Solve for y.

7=6x+"7Ty

A y="7(z — 6x)
-6
B.y— " X

Z + 6x
Z7
D.y:?—6x

C.y=




Problem 5.
If z represents a number, which equation is a correct translation of the sentence?

69 less than 7 times a number is 54.

A.69—77=54
B.7(z—69) = 54
C.7(69—z) = 54
D.7z—69 =54

Problem 6.
Find the graph of the solution to the inequality.

—8x—6<8x+42 [7A/B/C/D]
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1T T 1T 17171717 1TT"7
-8 -7-6-5-4-3-2-18 1 2 3 45 6 7 8
A
I A |
1T 1T 11
-8 -7-6-5-4-3-2-1 68 1 2 3 45 6 7 8
B
1T 1T 11
-8 -7-6-5-4-3-2-1 86 1 2 3 45 6 7 8
C
| | | | |
ettt
8 -7 -6 -5-4-3-2-1 8 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the y-coordinate of the solution to the system of equations.
3x+3y =-9
—2x—y =7
e Aly=1
e B.y=
e C.y=2
e D.y=-1
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Version 10

Problem 1.
Given a = —3 and b = —10, evaluate the expression given below.

a’> +ba+b*a

A. =321
B. 339
C. 261
D. —261

Problem 2.
Solve for x.

2(4x+5) =5+3x

A x=-3
B.x=-1
C.x=0
D.x=-2

Problem 3.
Solve for x.
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Problem 4.
Solve for y.

7=06x+8y
7 + 6x

A.y=
B.y=28(z — 6x)

-6
C'y:z X

; 8
D.y:§—6x




Problem 5.
If [ represents a number, which equation is a correct translation of the sentence?

82 less than 8 times a number is 31.

A.8(82—1)=31
B.8/—82=31
C.82—81=31
D.8(I—82) =31

Problem 6.
Find the graph of the solution to the inequality.

—2x+5<4x+17
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-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
A
1T 1T 1T 11
8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
B
1T 1T T 11
-8 -7 -6 -5-4-3-2-18 1 2 3 45 6 7 8
C
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-8 -7 6 -5-4-3-2-18 1 2 3 45 6 7 8
D
Problem 7.
What is the value of the y-coordinate of the solution to the system of equations.
—2x+2y =18
4x+2y =-12
e Aly=4
e B.y=5
e C.y=3
e D y=6
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Answers.

Version 1.
1.C 2D

Version 2.
1.B 2.D

Version 3.
1.B 2.D

Version 4.
1.B 2.B

Version 5.
1.C 2.B

Version 6.
1.A 2.C

Version 7.
1.B 2.C

Version 8.
1.B 2.A

Version 9.
1.D 2.A

Version 10.

1.D 2B

3.D

3.D

3.C

3.C

3.B

3.D

3.D

3.A

3.B

3.A

4.C

4.D

4.C

4.B

4.B

4.D

4.C

4.A

4.B

4.C

5.B

5D

5A

5.C

5D

5A

5.B

5A

5D

5.B

6.A

6.A

6.D

6.A

6.B

6.B

6.A

6.D

6.B

6.B

7.A

7.C

7.C

7.A

7.C

7.A

7.B

7.D

7.A

7.A



